Application

Filtration of all liquids. For installation
into suction or pressure pipework to
protect plant components (valves,
pumps, pressure gauges, nozzles
etc.) preventing accumulation of dirt

and sludge.

Operation

The Duplex Filter 2.04.5 allows
change-over during operation with-
out pressure-loss. The filter is com-
pact and easy to maintain, requiring
only manual cleaning when maximum

allowable pressure drop is reached.

When maximum pressure drop is
reached the standby filter chamber is
brought on line simultaneously as the
dirty one is isolated by means of the
change-over valve. After venting, the
dirty element can be removed,
cleaned and refilled to be the standby

filter chamber.

1 /s
am/s
am/s

o2

v

V=2m/s

"
\

- ) R
=)
%%o

w3
=

TN
0%

ANANNN\N
%Y

ANNNNAN

11
tr 01 0203 0507 ™
Differential-pressure Ap as function of
flow Q with oil of viscosity 50 cst and
filtration degree 40 umicrons.

Ap [bar]

Optional Accessories

Differential pressure indicator type
4.36 can be supplied fitted at factory.
The filter elements can be fitted with
magnetic bars.

BOLLFILTER

Protection Systems

e

BOLLFILTER Duplex

TYPE 2.04.5

with flanged connections DN 25—-DN 80

Cleaning

« Switch change-over valve to clean
filter chamber

» Release pressure in the contami-
nated filter chamber by means of
venting screw

e Lift the cover of the contaminated
filter chamber

* Remove filter element

» Soak filter element in cleaning fluid,

e.g. BOLL-CLEAN 2000, and clean with
compressed air

For details see operating instructions

manual ""maintenance and servicing'".

optionally with heating

Technical characteristics
Filter
internally nickel lined for water
application

Change-over valve of cast iron;

housing of ductile iron;

water filters rubber-lined
Optionally star-pleated 1 or basket 2
filter element, star pleated element
also available as disposable filter
element

Filter fineness: 10 microns to 5 mm
Operating pressure up to 25 bars
Lift the cover of the contamined
filter chamber



The Details

A
\
O | FP
%f_.\@ T T = I:>
1NN ! IS
o | | N Ne:
L
JI T T
= I | | -+ &
o NI
G | -
>< | |
I — £
L L -
= = N =7
@3 @3 / <\| 17
1 ; ; RS
M @D
L
— g
(o]
2 ‘
: Sild
=
9§ GLlp
""" Ansicht X d
view X a
BUA
f
[en]
w
RE Entliiftung G1/4 RS Entleerung G3/8 Flanschanschluss: auf Wunsch: Wandbefestigung auf Wunsch: Erdungsanschluss
vent G1/4 drain G3/8 flanged joint: connection at side on request earthing connection
BbIMyck Bosayxa G1/4 [JpeHaxHoe otBepcTve G3/8  PraHLesoe coeanHeHve HacTeHHbIl MoHTaX Mo 3arpocy MoakrioveHve 3a3eMIeHIA Mo 3arpocy
Auf Wunsch, on request, no Balueii npocs6e . h i i k |
1 Differenzdruckanzeiger (DDA) gﬂgi‘;ﬁ'{g‘lﬁ%gmg?’g DN25/32 (130 | 36 | M10 | 16 | 20
differencial pressure indicator YCTaHOBOUHbI TuT DIN939  |DN0/50[210 [ 47 | M12 [ 17 [ 25
MHOXKAaTOP nepenafa aaBneHua DN K m DN65 350 61 M12 17 25
2 DDA-Anbau und Durchflussrichtung fiir Stemsiebe 25 80 M10 Miox25 (DN8O__ [510 | 66 | M12 | 17 | 25
DPl-installation and flow direction for star-element
anICI'IOCOﬁJ'EHVIe,E[ﬂFIMOHTa)Ka VHOMUKaTopa nepenaja v HanpasneHve 32 80 M10 M10X25
noToKa Ansi rochpvpOBaHHbI i UNBTPOINEMEHT
3 DDA-Anbau und Durchflussrichtung fiir Korbsiebe Sechskantschraube DIN931 Gehéduse gegossen, EN-GJS-400-15
DPl-installation and flow direction for basket-element hexagon screw DIN931 housing cast
MpvcniocoBrieHve ANst MOHTaXa MHAMKATOpa Mepenaza i HanpaereHie LecTUrpaHHbIA BUHT DIN931 TNuroii kopryc
rioToKa AnA KOp3MHUaThIi MNTPOANEMEHT DN Km
S Siebausbau 0 100 14 Betriebsiiberdruck: 25 bar bei 160°C
40 100 @14 M12 X 50 ; : o
filter element removal working pressure: 25 bar at 160°C
[leMoHTaX 3nemeHTa 50 110 14 M12 X80 PacueTHoe aaBneHve
G Schwerpunkt 65 130 @18 M16 X 50 .
: Allgemeintoleranzen DIN ISO 2768-mK
center of gravity 80 150 018 M16 X 50 general tolerance DIN 1SO 2768-mK
OCHOBHOM MOMEHT 0O6ivie goryckv DIN 1O 2768-mK
Bestellbeispiel Ty oG Q DN :“ljbj?:c’:'tggaj{;;;‘zg’nzha"e“ :
deri !
cﬁ;ﬁﬂgg f:,?;gg ¢ 2045 ‘ ’ % ‘ ’ 145 ‘ ’ 2 ‘ MpaBo Ha BHECEHME U3MEHEHMI COXpaHsieTCs
Obbem
DN VOL.
QGQMIN.MAXACQDEFJLM O|P RSabdefnglTERKGX
90| 9| 25 | 32 | 95 (199 | 65 | 79 | 80 [22 | 206 | 92 | 153 | 346 | 193 [ 170 | 8 |92 12 | 110 9| 2X1 17 | 141
90| 145 | 32 | 40 | 95 |249 | 65 [129 | 80 [22 | 206 | 92 | 154 | 396 | 193 [220 | 8 |92 12 | 110 9| 2X1 18 | 164
110 210 | 40 | 50 [115 |330 | 85 |157 | 120 |20 | 250 | 110 | 184 | 470 | 193 |300 | 85 |110 14 1 110 9| 2X2 29 | 207
110 260 | 50 | 65 [128 |385 | 85 |208 | 120 |20 | 250 | 110 | 196 | 525 | 193 |350 | 85 |110 14 1 110 9| 2X3 36 | 245
110| 390 | 65 | 80 [180 |523 | 85 |317 | 140 |34 | 260 | 120 | 337 | 678 | 318 |480 | 120 |65 |75 | 14 | 200 | 137 |20 | 2X4 55 | 344
170| 500 | 80 | 100 [214 |690 |124 |453 | 160 |50 | 370 | 203 | 397 | 829 | 318 |700 | 174 |120 (105 | 18 | 220 | 135 (22 | 2X13 | 107 | 438

Boll & Kirch Filterbau GmbH - P. 0. Box 14 20 - D-50143 Kerpen - Siemensstr. 10-14 - D-50170 Kerpen

Tel.:

+49 2273 562-0 - Fax: +49 2273 562-223 - e-mail: info@bollfilter.com - Internet: www.bollfilter.com



